
Automat Nechci A Lhostejné Svačina odevzdali
počet žáků 

ve třídě

1.A 2 9 5 7 23 20 3 hlasy 2x

1.B 4 7 1 4 16 22

2.A 7 5 5 5 22 24 2hlasy 2x

2.B 1 12 8 1 22 23

3.A 2 4 7 3 16 16

3.B 4 5 4 3 16 17

4.A 3 3 11 0 17 18

4.B 4 7 5 3 19 18

1hlas - 

svačina, 

nechce 

automat

5.A 6 4 6 0 16 18

5.B 3 3 6 0 12 16

Celkem 36 59 58 26 179 192

6.A 4 2 4 1 11 16

6.B 5 2 5 0 12 17

7.A 2 9 4 7 22 24

7.B 4 5 4 2 15 22

8.A 2 1 16 0 19 19

8.B 0 5 9 2 16 16

9.A 5 9 15 2 31 30

Celkem 22 33 57 14 126 144

Oba stupně celkem 58 92 115 40 305 336


